

The Variation of Constants Formula and Periodicity for Linear Neutral Integro-differential Equations

By

Wang ZHICHENG, Wu JIANHONG and Li ZHIXIANG

(Hunan University, The People's Republic of China)

Consider the linear neutral integro-differential equations

$$(1) \quad \begin{aligned} \frac{d}{dt} \left(x(t) - \int_0^t D(t-s)x(s)ds \right) + D(t)x(0) \\ = Ax(t) + \int_0^t C(t-s)x(s)ds + F(t), \end{aligned}$$

$$(2) \quad \begin{aligned} \frac{d}{dt} \left(Z(t) - \int_0^t D(t-s)Z(s)ds \right) + D(t) \\ = AZ(t) + \int_0^t C(t-s)Z(s)ds, \quad Z(0)=I, \end{aligned}$$

and

$$(3) \quad \begin{aligned} \frac{d}{dt} \left(y(t) - \int_{-\infty}^t D(t-s)y(s)ds \right) \\ = Ay(t) + \int_{-\infty}^t C(t-s)y(s)ds + F(t), \end{aligned}$$

where x, y are n -vectors, A is an $n \times n$ constant matrix, C, D are $n \times n$ matrices of continuous functions, and $F: (-\infty, \infty) \rightarrow \mathbb{R}^n$ is continuous.

According to [4], the solution of (2) exists and is unique, and for any $t_0 \geq 0$, any continuous function $\phi: [0, t_0] \rightarrow \mathbb{R}^n$, the solution $x(t; t_0, \phi)$ of (1) through (t_0, ϕ) exists and is unique. Moreover, if $\phi: (-\infty, t_0] \rightarrow \mathbb{R}^n$ is continuous and bounded, C and $D \in L^1(0, \infty)$, then the solution $y(t; t_0, \phi)$ of (3) through (t_0, ϕ) exists and is unique.

Theorem 1. *If $x(t) = x(t; 0, x(0))$ is the solution of (1) through $(0, x(0))$, then*

$$(4) \quad x(t) = Z(t)x(0) + \int_0^t Z(t-s)g(s)ds,$$

where $Z(t)$ is the unique solution of (2) and $g(t)$ is the unique solution of

$$(5) \quad g(t) = F(t) + \int_0^t D(t-s)g(s)ds.$$

Proof. Integrating the equation (2) from 0 to t , we get

$$(6) \quad Z(t) = I - \int_0^t D(u)du + \int_0^t D(t-s)Z(s)ds + A \int_0^t Z(u)du \\ + \int_0^t du \int_0^u C(u-s)Z(s)ds.$$

For $x(t) = Z(t)x(0) + \int_0^t Z(t-s)g(s)ds$, we have by (6)

$$\begin{aligned} & x(0) + \int_0^t D(t-s)x(s)ds - \int_0^t D(u)x(0)du + A \int_0^t x(u)du \\ & \quad + \int_0^t du \int_0^u C(u-s)X(s)ds + \int_0^t F(u)du \\ & = x(0) + \int_0^t F(u)du - \int_0^t D(u)x(0)du + \int_0^t D(t-s)Z(s)x(0)ds \\ & \quad + \int_0^t D(t-s) \int_0^s Z(s-u)g(u)duds + \int_0^t AZ(u)x(0)du \\ & \quad + \int_0^t Ads \int_0^s Z(s-u)g(u)du + \int_0^t du \int_0^u C(u-s)Z(s)x(0)ds \\ & \quad + \int_0^t du \int_0^u C(u-s)ds \int_0^s Z(s-v)g(v)dv \\ & = \left(I - \int_0^t D(u)du + \int_0^t D(t-s)Z(s)ds + \int_0^t AZ(s)ds \right. \\ & \quad \left. + \int_0^t du \int_0^u C(u-s)Z(s)ds \right) x(0) + \int_0^t F(u)du \\ & \quad + \int_0^t D(t-s)ds \int_0^s Z(s-u)g(u)du + A \int_0^t ds \int_0^s Z(s-u)g(u)du \\ & \quad + \int_0^t du \int_0^u C(u-s)ds \int_0^s Z(s-v)g(v)dv \\ & = Z(t)x(0) + \int_0^t F(u)du + \int_0^t \left(\int_u^t D(t-s)Z(s-u)ds \right) g(u)du \\ & \quad + A \int_0^t \left(\int_u^t Z(s-u)ds \right) g(u)du \\ & \quad + \int_0^t \left(\int_v^t du \int_0^{u-v} C(u-s-v)Z(s)ds \right) g(v)dv \\ & = Z(t)x(0) + \int_0^t \left(g(u) - \int_0^u D(u-s)g(s)ds \right) du \\ & \quad + \int_0^t \left(\int_0^{t-u} D(t-u-w)Z(w)dw + \int_0^{t-u} AZ(w)dw \right) g(u)du \\ & \quad + \int_0^t \left(\int_0^{t-v} \left(\int_0^w C(w-s)Z(s)ds \right) dw \right) g(v)dv \\ & = Z(t)x(0) + \int_0^t Z(t-u)g(u)du = x(t). \end{aligned}$$

Then, $x(t) = Z(t)x(0) + \int_0^t Z(t-s)g(s)ds$ is the unique solution of (1) through $(0, x(0))$, the proof is completed.

Now we shall use Theorem 1 to discuss the existence of periodic solutions of (3). We always assume $F(t+T) = F(t)$.

Theorem 2. *If $C, D \in L^1(0, \infty)$, $x(t) = x(t; 0, x(0))$ is a bounded solution of (1) on $[0, \infty)$, then there exists an integer sequence $n_j \rightarrow \infty$ (as $j \rightarrow \infty$) such that $x(t+n_jT)$ converges to a solution of (3) on $(-\infty, \infty)$ and the convergence is uniform on compact subsets of $(-\infty, \infty)$.*

Proof. For $t_2 \geq t_1 \geq -nT$,

$$\begin{aligned}
 (7) \quad & x(t_2+nT) - x(t_1+nT) \\
 &= \int_0^{t_2+nT} D(t_2+nT-s)x(s)ds - \int_0^{t_1+nT} D(t_1+nT-s)x(s)ds \\
 &\quad - \int_{t_1+nT}^{t_2+nT} D(s)x(0)ds + \int_{t_1+nT}^{t_2+nT} Ax(s)ds \\
 &\quad + \int_{t_1+nT}^{t_2+nT} du \int_0^u C(u-s)x(s)ds + \int_{t_1+nT}^{t_2+nT} F(s)ds \\
 &= \int_{-nT}^{t_1} (D(t_2-s) - D(t_1-s))x(s+nT)ds + \int_{t_1}^{t_2} D(t_2-s)x(s+nT)ds \\
 &\quad - \int_{t_1+nT}^{t_2+nT} D(s)x(0)ds + \int_{t_1}^{t_2} Ax(nT+s)ds \\
 &\quad + \int_{t_1}^{t_2} dv \int_{-nT}^v C(v-s)x(s+nT)ds + \int_{t_1}^{t_2} F(u)du.
 \end{aligned}$$

Let $|x(t)| \leq M, |F(t)| \leq M$ for $t \geq 0$, then

$$\begin{aligned}
 & |x(t_2+nT) - x(t_1+nT)| \\
 &\leq M \int_{-\infty}^{t_1} |D(t_2-s) - D(t_1-s)| ds + M \int_{t_1}^{t_2} |D(t_2-s)| ds + M(t_2 - t_1) \\
 &\quad + M \int_{t_1+nT}^{t_2+nT} |D(v)| dv + |A| M(t_2 - t_1) + M \int_{t_1}^{t_2} dv \int_{-\infty}^v |C(v-s)| ds \\
 &\leq M \int_{t_1+nT}^{t_2+nT} |D(v)| dv + M \int_0^\infty |D(t_2 - t_1 + s) - D(s)| ds \\
 &\quad + M \int_{t_1}^{t_2} |D(t_2-s)| ds + (|A| + 1 + \int_0^\infty |C(s)| ds)(t_2 - t_1)M.
 \end{aligned}$$

Since $D \in L^1[0, \infty)$, for any $\epsilon > 0$, there exist $\delta > 0, K > 0$ such that

(i) $\int_t^\infty |D(s)| ds < \epsilon$, for $t \geq K$,

(ii) for any measurable subset J of $[0, \infty)$,

$$\int_J |D(v)| dv < \varepsilon$$

provided $\text{mes } J \leq \delta$.

Thus, if $0 \leq t_2 - t_1 \leq \delta$, then

$$\begin{aligned} |x(t_2 + nT) - x(t_1 + nT)| &\leq M\varepsilon + M \int_0^K |D(t_2 - t_1 + s) - D(s)| ds + 2M\varepsilon \\ &\quad + M\varepsilon + M \left(|A| + 1 + \int_0^\infty |C(s)| ds \right) (t_2 - t_1). \end{aligned}$$

For any $\varepsilon > 0$, by the continuity of D , there exists a $\delta_1 > 0$ such that for $s \in [0, K]$, $0 \leq t_2 - t_1 \leq \delta_1$,

$$|D(t_2 - t_1 + s) - D(s)| < \varepsilon/K.$$

Then, if $0 \leq t_2 - t_1 \leq \min(\delta, \delta_1)$, then

$$\begin{aligned} |x(t_2 + nT) - x(t_1 + nT)| &\leq M\varepsilon + M\varepsilon + 2M\varepsilon + M\varepsilon + M \left(1 + |A| + \int_0^\infty |C(s)| ds \right) (t_2 - t_1) \\ &\leq 5M\varepsilon + M \left(1 + |A| + \int_0^\infty |C(s)| ds \right) (t_2 - t_1). \end{aligned}$$

This implies $x(t + nT)$ are equicontinuous and uniformly bounded on $(-\infty, \infty)$, so there exists a positive integer sequence $n_j \rightarrow \infty$ (as $j \rightarrow \infty$) such that $x(t + n_j T)$ converges to some continuous function $z(t)$ and the convergence is uniform on any compact subsets of $(-\infty, \infty)$. Obviously, $z(t)$ is bounded.

Taking $t_2 = t$ and $t_1 = 0$ in (7), we get

$$\begin{aligned} (8) \quad x(t + n_j T) &= x(n_j T) + A \int_0^t x(s + n_j T) ds + \int_0^t F(s) ds \\ &\quad + \int_0^t dv \int_{-n_j T}^v C(v-s)x(s + n_j T) ds \\ &\quad + \int_0^t D(t-s)x(s + n_j T) ds - \int_{n_j T}^{t+n_j T} D(v)x(0) dv \\ &\quad + \int_{-n_j T}^0 (D(t-s) - D(-s))x(s + n_j T) ds. \end{aligned}$$

By Lebesgue dominated convergence theorem, letting $n_j \rightarrow \infty$, in (8), we get

$$\begin{aligned} z(t) &= z(0) + A \int_0^t z(s) ds + \int_0^t F(s) ds + \int_0^t dv \int_{-\infty}^v C(v-s)z(s) ds \\ &\quad + \int_0^t D(t-s)z(s) ds + \int_{-\infty}^0 (D(t-s) - D(-s))z(s) ds \end{aligned}$$

$$= z(0) + A \int_0^t z(s) ds + \int_0^t F(s) ds + \int_0^t dv \int_{-\infty}^v C(v-s)z(s) ds + \int_{-\infty}^t D(t-s)z(s) ds - \int_{-\infty}^0 D(-s)z(s) ds,$$

and then

$$\frac{d}{dt} \left(z(t) - \int_{-\infty}^t D(t-s)z(s) ds \right) = Az(t) + \int_{-\infty}^t C(t-s)z(s) ds + F(t).$$

This shows that $z(t)$ is a bounded solution of (3) and the proof is completed.

We now consider the related Volterra integral equations

$$(9) \quad g(t) = \int_0^t D(t-s)g(s) ds + F(t),$$

$$(10) \quad H(t) = I + \int_0^t D(t-s)H(s) ds, \quad H \in R^{n \times n},$$

$$(11) \quad g(t) = \int_{-\infty}^t D(t-s)g(s) ds + F(t).$$

Theorem 3. *If F, D are continuous, then*

- (i) *There is one and only one solution $g(t)$ of (9) on $[0, \infty)$.*
- (ii) *There is one and only one solution $H(t)$ of (10) on $[0, \infty)$.*
- (iii) *The unique solution of (9) is*

$$(12) \quad g(t) = H(t)F(0) + \int_0^t H(t-s)F'(s) ds$$

provided that F' is continuous.

- (iv) *If H' is continuous, then the solution of (9) is*

$$(13) \quad g(t) = F(t) + \int_0^t H'(t-s)F(s) ds.$$

Henceforth, we always assume that $F(t+T) = F(t)$ for some $T > 0$.

- (v) *If $g(t)$ is a solution of (9) bounded on $[0, \infty)$ with $D \in L^1 [0, \infty)$, then there is a sequence of positive integers $\{n_j\}$ such that $\{g(t+n_jT)\}$ converges to a solution of (11) and the convergence is uniform on compact subsets of $(-\infty, \infty)$.*

- (vi) *If H' and $D \in L^1 [0, \infty)$, then the solution $g(t)$ of (9) is bounded on $[0, \infty)$ and*

$$g(t+n_jT) \longrightarrow \int_{-\infty}^{t+1} H'(t-s)F(s) ds + F(t) = g^*(t),$$

a periodic solution of (11).

(vii) If F' is continuous with $D \in L^1 [0, \infty)$, and if there is a constant matrix K such that $H(t) - K \in L^1 [0, \infty)$ with $H(t) - K \rightarrow 0$ as $t \rightarrow \infty$, then the solution $g(t)$ of (9) is bounded on $[0, \infty)$ and

$$g(t + n_j T) \longrightarrow \int_{-\infty}^t (H(t-s) - K)F'(s)ds + KF(t) = g^*(t),$$

a T -periodic solution of (11).

Proof. From [1] (see also [2] or [3]), we need only to prove the last assertion. By (12),

$$\begin{aligned} g(t) &= H(t)F(0) + \int_0^t H(t-s)F'(s)ds \\ &= H(t)F(0) + \int_0^t (H(t-s) - K)F'(s)ds + K \int_0^t F'(s)ds \\ &= (H(t) - K)F(0) + \int_0^t (H(t-s) - K)F'(s)ds + KF(t), \end{aligned}$$

and we get that $g(t)$ is bounded on $[0, \infty)$ under our assumptions. Then we have

$$\begin{aligned} g(t + n_j T) &= (H(t + n_j T) - K)F(0) \\ &\quad + \int_0^{t + n_j T} (H(t + n_j T - s) - K)F'(s)ds + KF(t + n_j T) \\ &= (H(t + n_j T) - K)F(0) + \int_{-n_j T}^t (H(t-s) - K)F'(s)ds + KF(t) \\ &\longrightarrow \int_{-\infty}^t (H(t-s) - K)F'(s)ds + KF(t) = g^*(t), \end{aligned}$$

a solution of (11). It is easy to see that

$$(14) \quad g^*(t) = \int_0^\infty (H(v) - K)F'(t-v)dv + KF(t).$$

So, $g^*(t)$ is T -periodic since F' is T -periodic.

Example 1. Consider the scalar integral equations

$$(15) \quad g(t) = \cos t + \int_0^t e^{-2(t-s)} g(s)ds,$$

$$(16) \quad H(t) = 1 + \int_0^t e^{-2(t-s)} H(s)ds$$

and

$$(17) \quad g(t) = \cos t + \int_{-\infty}^t e^{-2(t-s)} g(s)ds.$$

Differentiating (16) we have

$$\begin{aligned} H'(t) &= H(t) + \int_0^t (-2)e^{-2(t-s)}H(s)ds, \\ H'(t) + H(t) &= 2, \\ H(t) &= 2 + ce^{-t}. \end{aligned}$$

But $H(0)=1$, we have $c = -1$. Therefore,

$$H(t) = 2 - e^{-t}$$

which is the unique solution of (16). For,

$$\begin{aligned} D(t) &= e^{-2t} \in L^1[0, \infty), \\ H(t) - 2 &= -e^{-t} \in L^1[0, \infty), \quad H(t) - 2 \longrightarrow 0 \quad \text{as } t \longrightarrow \infty, \end{aligned}$$

and $F(t) = \cos t$ is periodic, we see that all the conditions of Theorem 3 (vii) hold. Then (17) has a periodic solution

$$\begin{aligned} g^*(t) &= 2F(t) + \int_{-\infty}^t (H(t-s) - 2)F'(s)ds \\ &= 2 \cos t + \int_{-\infty}^t (-e^{-(t-s)})(-\sin s)ds \\ &= (3 \cos t + \sin t)/2. \end{aligned}$$

On the other hand, $H'(t) = e^{-t} \in L^1 [0, \infty)$ and $D(t) \in L^1 [0, \infty)$ imply that

$$\begin{aligned} g^*(t) &= F(t) + \int_{-\infty}^t H'(t-s)F(s)ds \\ &= \cos t + \int_{-\infty}^t e^{-(t-s)}(\cos s)ds \\ &= (3 \cos t + \sin t)/2, \end{aligned}$$

which is the same as before.

Finally, by (13), the unique solution $g(t)$ of (15) is

$$\begin{aligned} g(t) &= F(t) + \int_0^t H'(t-s)F(s)ds \\ &= \cos t + \int_0^t e^{-(t-s)}(\cos s)ds \\ &= (3 \cos t + \sin t - e^{-t})/2. \end{aligned}$$

Then we have

$$\begin{aligned} g(t + 2n_j\pi) &= (3 \cos t + \sin t - e^{-(t+2n_j\pi)})/2 \\ &\longrightarrow (3 \cos t + \sin t)/2 = g^*(t) \quad \text{as } j \longrightarrow \infty. \end{aligned}$$

Theorem 4. Suppose that C, D, Z and $H' \in L^1 [0, \infty)$, and that $F(t)$ is T -periodic. Then (3) has a T -periodic solution

$$(18) \quad y^*(t) = \int_{-\infty}^t Z(t-s)g^*(s)ds$$

where

$$(19) \quad g^*(t) = \int_{-\infty}^t H'(t-s)F(s)ds + F(t)$$

is a T -periodic solution of (11).

Proof. By Theorem 3 (iv), we know that

$$g(t) = F(t) + \int_0^t H'(t-s)F(s)ds,$$

and so $g(t)$ is bounded since $H' \in L^1 [0, \infty)$ and F is bounded. By Theorem 3 (v), there is a sequence of positive integers $\{n_j\}$ such that $\{g(t+n_jT)\}$ uniformly converges to a T -periodic solution $g^*(t)$ of (11) and

$$g^*(t) = \int_{-\infty}^t H'(t-s)F(s)ds + F(t).$$

On the other hand, let $x(t) = x(t; 0, 0)$ be the solution of (1) through $(0, 0)$. Then we have by Theorem 1

$$x(t) = \int_0^t Z(t-s)g(s)ds,$$

which is bounded on $[0, \infty)$, and then

$$x(t+n_jT) = \int_0^{t+n_jT} Z(t+n_jT-s)g(s)ds = \int_{-n_jT}^t Z(t-v)g(v+n_jT)dv.$$

By Lebesgue dominated convergence theorem, we get

$$x(t+n_jT) \longrightarrow \int_{-\infty}^t Z(t-v)g^*(v)dv = y^*(t)$$

which is a solution of (3) by Theorem 2. It is easy to see that

$$\int_{-\infty}^t Z(t-s)g^*(s)ds = \int_0^\infty Z(v)g^*(t-v)dv$$

which is T -periodic since $g^*(t)$ is T -periodic. The proof is completed.

Theorem 5. Suppose that C, D and $Z \in L^1 [0, \infty)$, that F is T -periodic with F'

continuous, and that there is a constant matrix K such that $H(t) - K \in L^1 [0, \infty)$ with $H(t) - K \rightarrow 0$ as $t \rightarrow \infty$. Then (3) has a T -periodic solution

$$y^*(t) = \int_{-\infty}^t Z(t-s)g^*(s)ds,$$

where

$$(20) \quad g^*(t) = \int_{-\infty}^t (H(t-s) - K)F'(s)ds + KF(t),$$

a T -periodic solution of (11).

The proof of this theorem is very similar to that of Theorem 4 and therefore is omitted.

Example 2. Consider the following scalar linear neutral integrodifferential equations

$$(21) \quad Z'(t) - \int_0^t e^{-2(t-s)}Z'(s)ds = -Z(t) + \int_0^t e^{-2(t-s)}Z(s)ds, \quad Z(0) = 1,$$

$$(22) \quad x'(t) - \int_0^t e^{-2(t-s)}x'(s)ds = -x(t) + \int_0^t e^{-2(t-s)}x(s)ds + \cos t,$$

and

$$(23) \quad y'(t) - \int_{-\infty}^t e^{-2(t-s)}y'(s)ds = -y(t) + \int_{-\infty}^t e^{-2(t-s)}y(s)ds + \cos t.$$

Notes that these equations can be reduced to the form of (1)–(3) with $C(t) = D(t) = e^{-2t}$ and $F(t) = \cos t$, and so one can use Theorem 4 or 5 to discuss the existence of the periodic solution of (23) directly.

It is easy to see that $Z(t) = e^{-t}$ is the unique solution of (21) with $Z(t) \in L^1[0, \infty)$.

The relevant Volterra integral equations are the same as those in Example 1, we have

$$\begin{aligned} C(t) &= D(t) = e^{-2t} \in L^1 [0, \infty), \\ H(t) &= 2 - e^{-t}, \quad H'(t) = e^{-t} \in L^1 [0, \infty), \\ H(t) - 2 &= -e^{-t} \in L^1 [0, \infty), \quad H(t) - 2 \rightarrow 0 \quad \text{as } t \rightarrow \infty. \end{aligned}$$

Thus, all the conditions of Theorem 4 and 5 are satisfied. Then (23) has a periodic solution

$$y^*(t) = \int_{-\infty}^t Z(t-s)g^*(s)ds,$$

where $g^*(t) = (3 \cos t \sin t)/2$ by Example 1. Therefore,

$$\begin{aligned} y^*(t) &= \int_{-\infty}^t e^{-(t-s)} ((3 \cos s + \sin s)/2) ds \\ &= (\cos t + 2 \sin t)/2. \end{aligned}$$

It is easy to verify directly that $y^*(t)$ does satisfy (23).

Acknowledgement. The authors would like to thank Professor T. A. Burton for his helpful discussions. The authors wish also to thank referee for his kind comments and helpful suggestions on the improvement of some of the results.

References

- [1] Burton, T. A., *Volterra Integral and Differential Equations*, Academic Press, New York, 1983.
- [2] ———, *Lecture Notes on Periodic Solutions of Volterra Equations*, to appear.
- [3] Miller, R. K., *Nonlinear Volterra Integral Equations*, Benjamin, New York, 1971.
- [4] Wang, Z. and Wu, J., Neutral functional differential equations with infinite delay, *Funkcial. Ekvac.*, **28** (1985), 157–170.

nuna adreso:
 Institute of Applied Mathematics
 Hunan University
 Changsha, Hunan 1801
 People's Republic of China

(Ricevita la 1-an de agusto, 1984)
 (Reviziita la 13-an de februaro, 1985)
 (Reviziita la 13-an de julio, 1985)